3+ Multi purpose anchors

W Chevilles universelles

Z Universaldiibel

@ Tacos universales

“~ YHueepcasnbHeie dtobenu

228

3+ Hollow sleeve anchors

W Chevilles & douille

Z Hiilsenankern

# Anclajes para materiales huecos
“ [obenu

231

A~ Tools for hollow wall anchor

W Outils pour chevilles pour murs vides

2 Werkzeuge fiir Diibel fiir leeren Wiinden

# Pinzas para fijar anclajes en materiales huecos
“= Knewu 0ns ycmaHoeKu dtobens

233

2+ Self drilling speed drive anchors

W Chevilles & percer

2 Selbstbohrenden Diibel

# Tacos helicoidales autotaladrantes
“ [obens-camopes

234

3~ Sleeve spreading saw anchor for aerated concrete

B Cheville a douille crénelée pour béton cellulaire
2 Krenelierte Hiilsenankern fiir Gasbeton

# Taco con dientes de sierra para hormigdn celular
= [wobens 055 2a3obemoHa

236

3+ Mushroom head nylon anchors with nail screw

W Cheville en nylon téte bombée large avec clou

2 Rundkopf- Nylondiibel mit Nagelschraube

# Tacos de nylon con cabeza abombada,con tornillo clavable
= Heiirior (i Orobk 06 C C GiHoll

237

T+ Modified truss head twinfast screw

B Vis téte cylindrique avec rondelle integrée

2 Zylinderkopf- Blechschraube mit Unterlegscheibe
# Tornillo con cabeza cilindrica

“= Uypyn-camopes c d8oliHoli pe3bboli

238

3+ Drywall screws bugle head

W Vis téte trompette pour cartén-pldtre

2 Trompetekopfschraube fiir Gipskarton

#& Tornillos con cabeza a trompeta para carton yeso
= lllypyn-camope3 07151 2UnCOKAPMOHHbIX CMeH

239

3+ Modified truss head self drilling screw

W Vis autoperceuse téte cylindrique ave rondelle integrée
2 Zylinderkopf- Bohrschraube mit Unterlegscheibe

# Tornillo autotaladrante con cabeza cilindrica

“= Camocsepaaujuli wypyn

240

I+ Zinc plated steel toggle anchors, with spring

W Chevilles a ressort en acier zinguée

2 Verzinkte Federklappdiibel

# Palomillas de acero cincado

= [pyx#UuHHble aHKepsl muna “30HMuK”

242

3+ Zinc plated steel toggle anchors, gravity version

W Chevilles a bascule en acier zingué
2 Verzinkte Kippdiibel

# Basculantes de acero cincado

“ Ipys#uHHble GHKEpbI

246

(O) T 2+ Zinc plated steel tie wire anchor

W Cheville d’ancrage en acier zinguée en téle
Z Verzinkte Verankerung aus Blech

# Anclaje con grapa de acero cincado

“= [MomonoyHbIli aHKep

248

== Drywall and hollow fixing systems

W Systémes pour fixation sur cartonplétre et murs vides

< Systeme fiir Befestigungen an Gipskarton und leere Wiinde

& Sjstemas para fijaciones de paneles de cartén yeso

= KpeneHble cucmeMbl 077 2UNCOKAPMOHA U ycmomesibix cmeH



Tecfi

Sistemi di Fissa

we try”
DR

DG O1

4 Multi-purpose rimmed nylon anchor, small box packing

() Cheville universelle en nylon avec collerette, petite boite

@ Universaldiibel aus Nylon mit Saum, kleine Verpackung

© Taco universal de nylon con collarin, en caja

@ YHMBepcanbHbIi HeliNoHOoBbINM Aobent ¢ 6opTom, B KOpobke

DR

Item code Anchor Size Pcs. per box Pcs. per carton
@ x La (mm)

DQ 01 06 040 6 x40 100 1.000

DQ 01 08 050 8 x50 100 1.000

DQ 01 10 060 10 x 60 50 500

Box / Boite / Verpackung / Caja / Ynakoska

4= Multi-purpose rimmed nylon anchor with zinc plated flat countersunk head chipboard screw
() Cheville universelle en nylon avec collerette, avec vis téte fraisée plate pour panneaux de particules

@ Universaldiibel aus Nylon mit Saum, mit Senkkopf- Spanplattenschraube

© Taco universal de nylon con collarin con tornillo cabeza avellanada para aglomerado

@ YHMBepcanbHbIii HelioHOBbIN Alo6eb C 6OPTOM B KOMMEKTe C OLMHKOBaHHbIM LIYPYNOM C NOCKOM NOTalHO ronoBKoii

DR 01 Small box packing / petite boite / kleine Verpackung / en caja / B kopobke

@ -

Item code Anchor Size Screw Size Pcs. per box Pcs. per carton
@ x La (mm) @ x Ls (mm)

DR 01 06 040 6 x 40 3,5x50 100 1.000

DR 01 08 050 8 x50 4,5 x 60 50 500

DR 01 10 060 10 x 60 6 x 80 25 250

Cross Type Z

PZ2
@3,5-45

==

PZ3
a6

Minimun Order Quantity: 1 carton

DR O2 10 sets bag packing / enveloppes de 10 pcs / 10 St. im Beutel / 10 unidades en cada bolsa / 8 mewouke no 10 wt

Item code Anchor Size Screw Size Pcs. per bag Bags per carton
- PxLa(mm) P xLs (mm)
DR 02 06 040 6 x40 3,5 x50 10 100
DR 02 08 050 8 x50 4,5x60 10 50
% DR 02 10 060 10 x 60 6x80 10 25
Cross Type Z
Pz 2 Pz3
23,5-45|06
Usage / Utilisation / Benutzung / Uso / NpumeHeHue Box / Boite / Verpackung / Caja / Ynakoska

228  www.tecfiit 1SO 9001:2008 - ISO 14001:2004



Tecfilli

Sistemi di Fissa

we try”
i
io

LRO1°

% Until stockout

() Jusqu’a épuisement de stocks
@ Solange der Vorrat reicht

© Hasta agotar existencias

@ 00 OKOHYGHUA CMOKA

4= Multi-purpose rimmed nylon anchor

( ) Cheville universelle en nylon avec collerette

@ Universaldibel aus Nylon mit Saum

© Taco universal de nylon con collarin, en caja

@ YHUBepcanbHbIl HeltnoHoBbINM A6ens c 6opTom

Item code Anchor Size Pcs. per box Pcs. per carton
@ x La (mm)
W; LR 01 06 035 6x35 200 2.000
L LR 01 08 042 8x42 200 2.000
LR 01 08 050 8 x50 200 2.000
LR 01 10 060 10 x 60 100 1.000
LR O2 < with zinc plated flat countersunk head chipboard screw
() avec vis téte fraisée plate pour panneaux de particules
@ mit Senkkopf- Spanplattenschraube
@ con tornillo cabeza avellanada para aglomerado
@ B KOMIJIEKTE C LWYPYMNOM C NJIOCKOW NOTAMHOW roNI0BKOW
Item code Anchor Size Screw Size Pcs. per box Pcs. per carton
| - PxLa(mm) PxLs (mm)
LR 02 06 035 6x35 4 x45 100 1.000
CrosTaoez LR 02 08 042 8x42 4,5 x50 100 1.000
" LR 02 08 050 8 x50 4,5x60 100 1.000
PZ2 | LR 02 10 060 10 x 60 5x70 50 500
@4-45-5
LR O3 & with zinc plated pan washer head chipboard screw
() avec vis téte cylindrique pour panneaux de particules
@ mit Linsenkopf- Spanplattenschraube
@ con tornillo cabeza cilindrica arandela estampada para aglomerado
@ B KOMIJIEKTE C LWYPYNOM C MOAYKPYI/ION roIOBKOW € npecc-walibon
Item code Anchor Size Screw Size Pcs. per box Pcs. per carton
T - P xLa (mm) P xLs (mm)
LR 03 06 035 6x35 4 x 45 100 1.000
Cross Type 2 LR 03 08 042 8x42 4,5 x 50 100 1.000
P72 LR 03 08 050 8 x50 4,5x60 100 1.000
04-45-5 LR 03 10 060 10 x 60 5x 70 50 500

Usage / Utilisation / Benutzung / Uso / NMpumeHeHune

Box / Boite / Verpackung / Caja / YnakoBka

.

1SO 9001:2008 - ISO 14001:2004

www.tecfi.it

229




Techi 11\l .

BT O1

4= High density PE rimmed hollow wall anchor

() Cheville universelle en polyéthyléne HD avec collerette pour fixations sur murs vides
@ Universaldibel aus Polyethylen HD mit Saum, fiir Befestigungen an leeren Wanden
© Taco de polietileno alta densidad con collarin para fijacién en materiales huecos

@ [iob6enb U3 nonnstuneHa c 60PTOM ANA NYCTOTENbIX KOHCTPYKLIWIA

Item code Anchor Size Pcs. per box Pcs. per carton
@ x La (mm)

BT 01 06 037 6x37 200 2.000

BT 01 08 050 8x50 200 2.000

BT 01 10 061 10x 61 100 1.000

BT O2

4= High density PE rimmed hollow wall anchor with zinc plated flat countersunk head chipboard screw

() Cheville universelle en polyéthyléne HD avec collerette pour fixations sur murs vides, avec vis téte fraisée plate pour pan-
neaux de particules
@ Universaldibel aus Polyethylen HD mit Saum, fiir Befestigungen an leeren Wanden, mit Senkkopf- Spanplattenschraube

© Taco de polietileno alta densidad con collarin para fijacién en materiales huecos, con tornillo cabeza avellanada para aglomerado

@ Jiobenb 13 nonnsTneHa ¢ 6OPTOM ANA NYCTOTENbIX KOHCTPYKLMIA B KOMMIEKTE C OLMHKOBAHHbBIM LUYPYNOM C MAOCKOM
NOTanHOM ronoBKOWM

Item code Anchor Size Screw Size Pcs. per box Pcs. per carton
9 @ L - o La () B L5 m)
3,5x45 200 2.000

o~ BT 02 06 037 6x37

rosstype : BT 02 08 050 8 x 50 4,5x 60 200 2.000
PZ2 BT 02 10 061 10 x 61 5x 70 100 1.000
@3,5-45-5 .

Usage / Utilisation / Benutzung / Uso / NpumeHeHune Box / Boite / Verpackung / Caja / Ynakoeka

230 www.tecfiit 1SO 9001:2008 - ISO 14001:2004



Tl we try-
Tecfi BB e o

Sistemi di Fissa

S
=
H p E
& Hollow wall anchor, zinc plated
() Cheville a douille zinguée pour murs vides, zinguée &
@ Hilsenanker fiir leere Wanden, verzinkt S
© Anclaje para fijacion en materiales huecos, de acero cincado g
@ OumnHKoBaHHbIN Aob6enb ANA NyCTOTeNbIX KOHCTPYKL M ~
0
HP O1 with combi slotted-pozi pan head screw / avec vis téte cylindrique cruciforme type Z / mit Linsenkopfschraube KreuzschlitzZ / con  [ew
tornillo cabeza cilindrica cruz tipo Z / ¢ wypynom ¢ UmAMHAPUHECKON FOI0OBKOM C KOMBUHMPOBAHHbIM LLIMLEM
5
D
& ([ ==D |
(e
—> 'E
JL
Item code Anchor lenght Screw Size Drill hole Min drilled hole depth | Drywall thickness Pcs. per box Pcs. per carton Q
(mm) M x Ls (mm) do (mm) h1(mm) min - max (mm) N
HP 01 04 021 21 4x28 8 30 2-4 100 1.000 @)
HP 01 04 033 33,5 4x41 8 43 3-9 100 1.000 8
HP 01 04 039 39,5 4x47 8 49 8-15 100 1.000
HP 01 04 046 46,5 4x54 8 56 3-20 100 1.000 S
HP 01 04 047 46,5 4 x54 8 56 16-21 100 1.000 ‘
HP 01 04 060 60 4x67 8 70 34-38 100 1.000 S
HP 01 05 037 37 5x45 11 47 6-10 100 1.000 \»
HP 01 05 053 53 5x 60 11 63 6-14 100 1.000
HP 01 05 065 65,5 5x74 11 77 14-30 100 1.000 ;
HP 01 06 038 38 6 x45 13 47 6-11 100 1.000 RS
HP 01 06 053 53 6 x 60 13 63 3-14 100 1.000
HP 01 06 066 66 6x74 13 77 14-30 100 500
HP 01 06 081 81 6 x 88 13 92 28-43 100 500 z
)
HP O2 with hexheadscrew / avecvis téte hexagonale / mit Sechskantschraube / con tornillo cabeza hexagonal / c wypynom c wecturpaHHoin . .
ro/IoBKOW «
=
EF IS
—— Tu
(1 AT JW -
s
.
Item code Anchor lenght Screw Size Drill hole Min drilled hole depth |Drywall thickness Pcs. per box Pcs. per carton @
(mm) M x Ls (mm) do (mm) h1(mm) min - max (mm) N
HP 02 08 039 39 8 x45 13 47 6-11 100 1.000 .
HP 02 08 055 55 8x 65 13 48 3-14 100 500 R
HP 02 08 068 68 8x75 13 78 14-30 50 500 o
HP 02 08 084 84 8x90 13 94 28-43 50 500 =
Installation sequence / Instructions de mise en oeuvre / Setzanweisung / Secuencia de instalacion / Nopagok MoHTaxa ‘
o i Q)
¢ « ! " O
SO IS~ — = S
S
e O]
uv“ 8 i
o
Usage / Utilisation / Benutzung / Uso / Mpumerexne O
o
(o
-
‘
-
S
>
@)

1SO 9001:2008 - ISO 14001:2004 www.tecfi.it 231



we tr)

hpégléé r work

Tecfi

Sistemi di Fissa

HP

4= Hollow wall anchor, zinc plated
() Cheville a douille zinguée pour murs vides, zinguée

@ Hulsenanker fiir leere Wanden, verzinkt
© Anclaje para fijacién en materiales huecos, de acero cincado

@ OuuHKOBaHHbIV At06enb A9 NYCTOTENbIX KOHCTPYKLMIA

HP O3 with “L” screw / avec crochet droit court / mit kurzer Haken / con gancho / ¢ npambim Kptokom

——

Item code Anchor lenght Screw Size Drill hole Min drilled hole depth | Drywall thickness Pcs. per box Pcs. per carton
(mm) M x Ls (mm) do (mm) h1(mm) min - max (mm)

HP 03 04 033 33,5 4x40 8 42 3-9 100 1.000

HP 03 05 037 37 5x45 11 47 6-10 100 1.000

HP 04 with hook screw / avec crochet rond / mit Rundhaken / con gancho curvo / ¢ noTos04HbIM KproKom

I

Item code Anchor lenght Screw Size Drill hole Min drilled hole depth |Drywall thickness Pcs. per box Pcs. per carton
(mm) M x Ls (mm) do (mm) h1(mm) min - max (mm)

HP 04 04 033 33,5 4 x40 8 42 3-9 100 1.000

HP 04 05 037 37 5x 45 11 47 6-10 100 1.000

HP O5 with eye screw / avec oeillet / mit Augenschraube / con argolla / ¢ 3amKHYTbIM KptOKOM

==

Item code Anchor lenght Screw Size Drill hole Min drilled hole depth |Drywall thickness Pcs. per box Pcs. per carton
(mm) M x Ls (mm) do (mm) h1(mm) min - max (mm)

HP 05 04 033 33,5 4 x40 8 42 3-9 100 1.000

HP 05 05 037 37 5x45 11 47 6-10 100 1.000

Installation sequence / Instructions de mise en oeuvre / Setzanweisung / Secuencia de instalacion / Nopagok MoHTaxa

L eewy | = DCD

Usage / Utilisation / Benutzung / Uso / Mpumerexue Box / Boite / Verpackung / Caja / Ynakoska

=

232  www.tecfiit 1SO 9001:2008 - ISO 14001:2004



Tecfi ! ...

Sistemi di Fissa

HQ

&= Tools for hollow wall anchors installing

() Outils pour la mise en ouvre des chevilles pour murs vides

@ \Werkzeuge fiir die Montage von Diibel fiir leeren Wanden

© Pinzas para la fijacién de anclajes en materiales huecos

@ Knewwm ana yctaHoskM ar06ena AN NycToTeNbiX KOHCTPYKLIMIA

HQ 01 00 001 HQ 01 00 002 HQ 01 00 003
Item code To be used with: Pcs. per box
HQ 01 00 001 HP 01 - HP 03 - HP 04 - HP 05 1
HQ 01 00 002 HP 01 1
HQ 01 00 003 HP 01 - HP 02 - HP 03 - HP 04 - HP 05 1

Installation sequence / Instructions de mise en oeuvre / Setzanweisung / Secuencia de instalacion / Nopagok MoHTaxa

1. Drill the drywall. 2. Set the anchor (HP series) into the hole, until the flat edge.

3. Hang the screw head by the special tool (HQ series), then use the tool-gun until the complete opening of the anchor as showed in 4. Drive-out the screw and perform the fixing through the fixture.
the picture.

1SO 9001:2008 - ISO 14001:2004 www.tecfi.it 233



Tecfi

we try”

Sistemi di Fissa

o &ﬂ%%i"' work

HE

&= HE 00 - Zinc alloy self drilling speed drive anchor, to be used on drywall
() HE 00 - Cheville 4 percer en alliage de zinc pour fixation rapide sur carton-platre
@ HE 00 - Selbstbohrender Diibel aus Zinklegierung, fiir schnelle Befestigung an Gipskarton

© HE 00 - Taco helicoidal autotaladrante de aliacién de cinc, para cartén yeso

@ HE 00 - CamocBepnaLwmii Alobesb 13 cnaaBa LMHKA AJ/19 TMNCOKAPTOHHbIX CTEH

Item code Anchor Size Pcs. per box Pcs. per carton
@ x La (mm)
HE 00 13 034 13x 34 200 2.000
HE 00 13 034
Item code Anchor Size Pcs. per box Pcs. per carton
@ x La (mm)
HE 00 15 029 15x 29 200 2.000
HE 00 15 029
HE O1 % with zinc plated pan washer head chipboard screw
() avec vis téte cylindrique pour panneaux de particules
@ mit Linsenkopf- Spanplattenschraube
@ con tornillo cabeza cilindrica arandela estampada para aglomerado
@ B KOMMJIEKTe C Wypynom C NOAYKPYIIOW roNoBKow ¢ npecc-wainboi
@ "ll\’\\‘\\‘\\A\\\\\\\\‘\\\\\\‘\\\\\\‘\\‘\\\\\\‘\\\\\»
| . "--
HE 01 13 034
Item code Anchor Size Screw Size Max fixture thickness |Pcs. per box Pcs. per carton
@ x La (mm) @ x Ls (mm) tx (mm)
HE 01 13 034 13x 34 4,5 x50 30 100 1.000
Cross;’ype z
@ I
‘ i i Item code Anchor Size Screw Size Max fixture thickness |Pcs. per box Pcs. per carton
HE 01 15 029 @ x La (mm) @ x Ls (mm) tsix (mm)
HE 01 15 029 15x 29 5x40 20 100 1.000

Cross Type Z
2

Usage / Utilisation / Benutzung / Uso / NMpumeHexune

Installation sequence / Instructions de mise en oeuvre / Setzanweisung / Secuencia de instalacién / Nopagok MoHTaxa

Box / Boite / Verpackung / Caja / YnakoBka

234  www.tecfiit

1SO 9001:2008 - ISO 14001:2004




Tecfi ! ...

Sistemi di Fissaggio

HF

&= HF 00 - Nylon self drilling speed drive anchor, to be used on drywall

() HF 00 - Cheville a percer en nylon pour fixation rapide sur carton-platre

@ HF 00 - Selbstbohrender Diibel aus Nylon, fiir schnelle Befestigung an Gipskarton
© HF 00 - Taco helicoidal autotaladrante de nylon, para cartén yeso

@ HF 00 - CamocsepnaLLmii Aro6enb 13 HeloHa ANA TMNCOKAPTOHHbIX CTeH

Item code Anchor Size Pcs. per box Pcs. per carton

@ x La (mm)
HF 00 15 032 15x 32 200 2.000

HF O1 < with zinc plated pan washer head chipboard screw
() avec vis téte cylindrique pour panneaux de particules
@ mit Linsenkopf- Spanplattenschraube
@ con tornillo cabeza cilindrica arandela estampada para aglomerado
@ B KOMIJIEKTE C LWYPYNOM C MOJYKPYI/ION rOIOBKOW C npecc-walibon

@ 1|l\‘\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\»
Item code Anchor Size Screw Size min - max fixable thickness Pcs. per box Pcs. per carton
@ x Ls (mm)

@ x La (mm) min tg(mm) max tr(mm)
Cross Type Z
2 HF 01 15 032 15x 32 4,5 x35 10 15 100 1.000
Usage / Utilisation / Benutzung / Uso / NMpumeHexune Installation sequence / Instructions de mise en oeuvre / Setzanweisung / Secuencia de instalacién / Nopagok MoHTaxa

Box / Boite / Verpackung / Caja / YnakoBka

.
B

1SO 9001:2008 - ISO 14001:2004 www.tecfi.it 235



Techloe ...

Sistemi di Fissa

TZ

4= TZ 01 - Yellow zinc plated sleeve spreading saw anchor, to be used in aerated concrete
() T2 01 - Cheville a douille crénelée, zinguée jaune, pour béton cellulaire

ﬁ TZ 01 - Krenelierter Hilsenanker, gelb verzinkt, fiir Gasbeton

© TZ 01 - Taco con dientes de sierra de acero bicromatado, para hormigdn celular

@ TZ 01 - OumMHKOBaHHbIN Arobenb xentoro LgeTa 11 razobetoHa

Item code Anchor Size Pre-drill hole* Pcs. per box Pcs. per carton
@ xLa (mm) & (mm)

TZ 01 05 030 5x30 6 200 2.000

TZ 01 06 032 6x32 8 100 1.000

TZ 01 08 038 8x38 10 100 1.000

TZ 01 08 060 8 x 60 10 100 1.000

TZ 01 10 060 10 x 60 12 100 1.000

TZ 02 & with yellow zinc plated pan washer head chipboard screw
() avec vis téte cylindrique pour panneaux de particules
@ mit Linsenkopf- Spanplattenschraube
@ con tornillo cabeza cilindrica arandela estampada para aglomerado
@ B KOMIJIEKTE C OLMHKOBAHHbIM LUYPYNOM C NONYKPYII0M FO/I0BKOM C Npecc-ainboi

Item code Anchor Size Screw Size Pre-drill hole* Pcs. per box Pcs. per carton
@ xLa (mm) @ xLs (mm) & (mm)

TZ 02 05 030 5x30 4,5 x45 6 100 1.000
TZ 02 06 032 6x32 5x45 8 100 1.000
TZ 02 08 038 8x38 6 x 60 10 100 1.000
TZ 02 08 060 8x 60 6x 80 10 100 1.000
TZ 02 10 060 10 x 60 6 x 80 12 100 1.000

Cross Type Z

Pz 2

@4,5

PZ3

ad5-6

Informations for fixing on concrete / Information pour la fixation sur le béton / Informationen fir die Befestigung auf ~ Box / Boite / Verpackung / Caja / Ynakoska
Beton / Informacion para la fijacién sobre hormigén / NpumeHeHwe B 6eToHe

In the concrete: pre-drill as in the table / Dans le béton: trou de préparation comme dans le tableau / Auf Beton: Vorbe-
reitungsloch wie in der Tabelle / En hormigdén: pretaladrar como en el cuadro / B 6eToHe: npeagapuTte/ibHoe CBEpEHHE,
KaK yKa3aHo B Tabauue.

Informations for fixing on aerated concrete / Information pour la fixation dur béton cellulaire / Informationen fiir die
Befestigung auf Zellbeton / Informacién para la fijacion sobre hormigén celular / MpumeHerue 8 rasobeTtoHe

..

In the aerated concrete: to hammer (without pre-drill) / Dans le béton cellulaire: a marteler (sans trou de préparation)
Auf Gasbeton: zu hammern (ohne Vorbereitungsloch) / En hormigdn celular: martillar (sin pretaladro) / B razo6etoHe:
B6WUTb MO/IOTKOM 6€3 NpesBapUTE/IbHOMO CBEPIEHNS.

236  www.tecfiit 1SO 9001:2008 - ISO 14001:2004



Tecfi %ﬁm

Sistemi di Fissaggio

BD O1

4= Mushroom head white nylon anchor, with zinc plated countersunk head nail screw

() Cheville en nylon blanche téte bombée large avec vis a clou téte fraisée plate zinguée
@ WeiRer Rundkopf- Nylondiibel mit Senkkopf- Nagelschraube, verzinkt
© Taco blanco de nylon con cabeza abombada, con tornillo clavable con cabeza avellanada abombada de acero cincado

@ HelinoHoBbIN A06enb-rBo3ab 6e10ro LBeTa B KOMMIEKTE C OLMHKOBAHHbIM LUYPYNOM C MONYNOTaliHON roN0BKOM

@ —

BD O2

Item code Anchor Size Screw Size Pcs. per box Pcs. per carton
@ x La (mm) @ xLs (mm)

BD 01 06 030 6x30 4 x35 200 2.000

BD 01 06 040 6 x40 4 x45 200 2.000

BD 01 06 050 6 x50 4 x55 200 2.000

BD 01 06 060 6 x 60 4 x 65 200 2.000

4= Mushroom head dark brown nylon anchor, with black zinc plated countersunk head nail screw
() Cheville en nylon marron foncé téte bombée large avec vis a clou téte fraisée plate zinguée

@ Dunkelbrauner Rundkopf- Nylondiibel mit schwarzer Senkkopf- Nagelschraube

@ Taco marrén oscuro de nylon con cabeza abombada, con tornillo clavable con cabeza avellanada abombada de acero cin-

cado negro

@ Heli10HOBbINV A106€/1b-rBO31b TEMHO-KOPUYHEBOTO LLBETA B KOMIMJ/IEKTE CYEPHbIM OLLMHKOBAHHbIM LLIYPYMNOM C MOYNoTaliHOM

?\i 4
BD O5

Item code Anchor Size Screw Size Pcs. per box Pcs. per carton
@ x La (mm) @ x Ls (mm)

BD 02 06 030 6x30 4 x 35 200 2.000

BD 02 06 040 6 x40 4 x45 200 2.000

BD 02 06 050 6 x50 4 x55 200 2.000

BD 02 06 060 6 x 60 4 x 65 200 2.000

4= Mushroom head dark brown (chocolate brown) nylon anchor, with copper plated A2 (AISI 304) countersunk

head nail screw

() Cheville en nylon marron foncé téte bombée large avec vis a clou téte fraisée plate en cuivre

@ Dunkelbrauner Rundkopf- Nylondiibel mit Kupfer- Nagelschraube

© Taco marrén oscuro de nylon con cabeza abombada, con tornillo clavable con cabeza avellanada abombada de acero inoxi-

dable A2 (AISI304) cuprifero

i HelinoHoBbIl AIOGefIb—I'BO3LI,b TEMHO-KOPWNYHEBOIO LIBETA B KOMI/1IEKTE C MEAHBIM OLIMHKOBAHHbIM LLYPYNOMm C I'IOI'IyI'IOT&VIHOVI rO/IOBKOM

?\io=_==

Item code Anchor Size Screw Size Pcs. per box Pcs. per carton
@ x La (mm) @ x Ls (mm)

BD 05 06 030 6x30 4 x 35 200 2.000

BD 05 06 040 6 x40 4 x45 200 2.000

BD 05 06 050 6 x50 4 x55 200 2.000

BD 05 06 060 6 x 60 4 x 65 200 2.000

Usage / Utilisation / Benutzung / Uso / NMpumeHeHune

Box / Boite / Verpackung / Caja / Ynakoska

analleeras WandeY/®eartonTyesoy

ollowMeartonplatreretmursvides

-

Yl

aterial'htecomArlycmomernsieTRorcImp

GIpSKarto

prywallfana

1SO 9001:2008 - ISO 14001:2004

www.tecfi.it 237




Techi 11\l .

LC O1

4= Modified truss head cross type H recess twinfast screw, sharp point, hardened, zinc plated

() Vis autotaraudeuse téte cylindrique avec rondelle integrée, empreinte cruciformes type H, pointe coupante, en acier cé-
menté, zinguée
@ 7ylinderkopf- Blechschraube mit Unterlegscheibe Kreuzschlitz H, mit scharfer Spitze, einsatzgehartet, verzinkt

@ Tornillo autorroscante doble rosca con broca afilada, cabeza cilindrica cruz tipo H con arandela estampada, acero cementado, cincado
@ OUVHKOBaHHbIN LWYpPyn-camopes ¢ ABOVHOMN pe3bboii 13 3aKasleHHOM CTafu € KPecToobpasHbIM WanLem Tina H

Item code Size Pcs. per box Pcs. per carton
@xLs/Lt(mm)

@4,2-Ph2
LC 0142009 4,2x9,5 500 5.000
LC0142013 42x13 500 5.000
LC 0142016 4,2x16 500 5.000
LC 0142019 4,2x19 200 2.000
LC 01 42 025 4,2 x25 200 2.000
LC 01 42 032 4,2 x 32 200 2.000
LC 01 42 038 4,2 x38 200 2.000

©4,8-Ph2
LC 0148013 4,8x13 500 5.000
LC 0148016 4,8x16 500 5.000
"/ LC 0148019 4,8x19 200 2.000
0 "‘ LC 01 48 025 4,8 x25 200 2.000
Cross Type H max 0,8mm LC 0148032 4,8x32 200 2.000
LC 0148038 4,8x38 200 2.000
LC 01 48 050 4,8 x50 100 1.000
LC 01 48 060 4,8 x60/50 100 1.000
LC 01 48 070 4,8 x 70 / 50 100 1.000
LC 01 48 080 4,8 x 80 / 50 100 1.000

Usage / Utilisation / Benutzung / Uso / Mpumerexve

L

m
'/
"i

Box / Boite / Verpackung / Caja / YnakoBka

238  www.tecfiit 1SO 9001:2008 - ISO 14001:2004



Tecfi ! ...

Sistemi di Fissa

BP O1

4= Drywall screw bugle head, hardened, black phosphated, 1 bit free per box

() Vis téte trompette pour carton-platre, en acier cémenté, phosphatée noire; un embout gratuit dans chaque boite

@ Phosphatierte schwarze Trompetekopfschraube fiir Gipskarton, einsatzgehartet; zu jeder Verpackung ein Bit kostenlos
© Tornillo para cartén-yeso, cabeza trompeta, acero cementado, fosfatado negro; una punta de atornillar en cada caja

@ PocdaTrpoBaHHbIi LYpPyN-CaMopes 1A TMNCOKAPTOHHbIX CTEH, F0/0BKa B BUAE rOpHa C MIOCKMM BEpXoM. B Kaaoii
KOopobKe - oaAnH buT B B NogapokK

Item code Size Pcs. per box Pcs. per carton
@ xLs /Lt (mm)

@3,5-Ph2
BP 01 03 025 3,5x25/20 1.000 10.000

BP 01 03 035 3,5x35/30 1.000 10.000
BP 01 03 045 3,5x45/40 500 5.000
BP 01 03 055 3,5x55/50 500 5.000

N

|

Cross Type H

Usage / Utilisation / Benutzung / Uso / NMpumeHeHue Box / Boite / Verpackung / Caja / Ynakoska One bit free per box: FK 01 (see page 348)

e

& one bit free per box

() Un embout gratuit dans chaque boite
a @ Zu jeder Verpackung ein Bit kostenlos

@ Una punta de atornillar en cada caja

@ O0uH becninamubili 6um e kaxcdoli ynokKoske

BP O3

&= Drywall screw bugle head, hardened, zinc plated, 1 bit free per box

() Vis téte trompette pour carton-platre, en acier cémenté, zinguée; un embout gratuit dans chaque boite

@ Trompetekopfschraube fiir Gipskarton, einsatzgehartet, verzinkt ; zu jeder Verpackung ein Bit kostenlos

@ Tornillo para cartén-yeso, cabeza trompeta, acero cementado, cincado; una punta de atornillar en cada caja

@ OUMHKOBAHHbIN LYPYN-CaMOPE3 13 3aKafeHHOM CTaNn /1A MUINCOKaPTOHHbIX CTEH, FO/I0BKa B BU/E FOpHa C NNOCKMM BEPXOM.
B Kaaol Kopobke - oguH 6MT B B N0AaPOK

@ Item code Size Pcs. per box Pcs. per carton

@ x Ls (mm)
i ©4,2-Ph2
BP 03 42 070 4,2x70 200 2.000
BP 03 42 080 4,2 x80 200 2.000
_> ?4,8-Ph2
:é BP 03 48 090 4,8x90 200 2.000
:% BP 03 48 100 4,8 x 100 200 2.000
::: BP 03 48 110 4,8 x 110 200 2.000
:f: BP 03 48 120 4,8 x120 200 2.000
>
2
=
() 7
Cross Type H \
Usage / Utilisation / Benutzung / Uso / NMpumeHeHue Box / Boite / Verpackung / Caja / YnakoBka One bit free per box

& one bit free per box

() Un embout gratuit dans chaque boite
a @ Zu jeder Verpackung ein Bit kostenlos

@ Una punta de atornillar en cada caja

@ O0uH 6ecnnamHeili 6um e kaxcdol yrnokoske

1SO 9001:2008 - ISO 14001:2004 www.tecfi.it 239



Techi 11\l .

DU O1

4= Drywall self drilling screw bugle head, hardened, black phosphated, 1 bit free per box

() Vis autoperceuse téte trompette, pour carton-platre, en acier cémenté, phosphatée noire; un embout gratuit dans chaque boite
@ Phosphatierte schwarze Bohrschraube mit Trompetekopf einsatzgehértet; zu jeder Verpackung ein Bit kostenlos

© Tornillo autotaladrante para cartdn-yeso, cabeza trompeta, acero cementado, fosfatado negro; una punta de atornillar en cada caja

@ PocdaTpoBaHHbIi CaMOCBEPAALLMIA LWYPYN M3 3aKaNeHHOMN CTaAu 1A TMMNCOKapPTOHHbIX CTEH, TONI0BKa B BUAE ropHa C
NAOCKMM BEPXOM. B Kaxkaon KopobKe - ognH 6UT B B Nofapok

Item code Size Pcs. per box Pcs. per carton
@ xLs (mm)
®3,5-Ph2
New te» DU 01 03 020 3,5x20 1.000 10.000
DU 01 03 025 3,5x25 1.000 10.000
DU 01 03 035 3,5x35 1.000 10.000
DU 01 03 045 3,5x45 500 5.000
DU 01 03 055 3,5x55 500 5.000
ks
X
9
Cross Type H
Usage / Utilisation / Benutzung / Uso / MpumeHexve Box / Boite / Verpackung / Caja / YnakoBka One bit free per box

& one bit free per box

'/ y& () Un embout gratuit dans chaque boite
(X 2 a @ Zu jeder Verpackung ein Bit kostenlos
' | @ Una punta de atornillar en cada caja
@ O0uH 6ecnnamHeili 6um e kaxcdol ynokoske

240  www.tecfiit 1SO 9001:2008 - ISO 14001:2004



Techll -

Sistemi di Fissa

S
=
4= Modified truss head cross type H recess self drilling screw, hardened, zinc plated
() Vis autoperceuse téte cylindrique avec rondelle integrée, empreinte cruciformes type H, en acier cemente, zinguée &
@ 7ylinderkopf- Bohrschraube mit Unterlegscheibe, Kreuzschlitz H, einsatzgehartet, verzinkt 5
@ Tornillo autotaladrante, cabeza cilindrica cruz tipo H con arandela estampada, acero cementado, cincado g
@ OLMHKOBaHHbIV CAMOCBEPAALLMIA LYPYN U3 3aKaIEHHOM CTaIM C NOYKPY/I0M roNI0BKOW C Npecc-waiiboii c KpecToobpasHbim ~
wnmuem tmna H
=
Item code Size Pcs. per box Pcs. per carton NN
@ x Ls (mm) @
®4,2-Ph2 7
Cl 0142013 4,2x13 500 5.000 =
C10142016 4,2x16 500 5.000
Cl 0142019 4,2x19 500 5.000 kS
C101 42025 4,2 x25 200 2.000 T
C101 42032 4,2x32 200 2.000 ‘
C10142038 4,2 x38 200 2.000
®4,8-Ph2
'l/ Cl 0148013 4,8x13 500 5.000
,"f Cl 0148 016 48x16 500 5.000
Byt Cl 0148019 4,8x19 500 5.000
ross ype C101 48 025 4,8x25 200 2.000
Cl 0148032 4,832 200 2.000
Cl 0148 038 4,8x38 200 2.000
Cl 01 48 050 4,8 x 50 200 2.000
Cl 01 48 060 4,8 x 60 100 1.000
C101 48 070 4,8x70 100 1.000

c I D 3 Cl 01 48 080 4,8 x 80 100 1.000

4= Modified truss head cross type H recess self drilling screw, hardened, black zinc plated
() Vis autoperceuse téte cylindrique avec rondelle integrée, empreinte cruciformes type H, en acier cemente, zinguée noire

@ 7ylinderkopf- Bohrschraube mit Unterlegscheibe, Kreuzschlitz H, einsatzgehartet, schwarz verzinkt

nalleeraWandeY/2EartonTyesory

© Tornillo autotaladrante, cabeza cilindrica cruz tipo H con arandela estampada, acero cementado, cincado negro

@ OLMHKOBaHHbIM CAaMOCBEP/IALLMIA LWYPYN YEpHOro LLBETA W3 3aKa/JIeHHOW CTaau C NOMYKPYIIOM roN0BKOW C npecc-ianboi O
C KpectoobpasHbim wanuem tuna H
Item code Size Pcs. per box Pcs. per carton
@ xLs (mm) @
©4,2-Ph2
Cl 0342013 4,2x13 500 5.000 N
Cl 03 42 016 4,2x16 500 5.000 :
Cl 03 42 019 4,2x19 500 5.000 S
Cl 03 42 025 4,2 x 25 200 2.000 &)
Cl 03 42 032 4,2x32 200 2.000 k
Cl 0342 038 4,2 x38 200 2.000 E
?4,8-Ph2 ;
Cl 03 48 013 4,8x13 500 5.000 g
Cl 03 48 016 4,8x16 500 5.000 ,
. '/ Cl 03 48 019 4,8x19 500 5.000 4]
0 X Cl 03 48 025 4,8 x25 200 2.000 -
U Cl 03 48 032 4,8x32 200 2.000 S
Cross Type H Cl 03 48 038 4,8x38 200 2.000 -
Cl 03 48 050 4,8 x50 200 2.000 (o]
Cl 03 48 060 4,8 x 60 100 1.000 9
Cl 03 48 070 4,8x70 100 1.000 .
C1 03 48 080 4,8 x 80 100 1.000
Usage / Utilisation / Benutzung / Uso / MpumereHve Box / Boite / Verpackung / Caja / YnakoBka (@)
-
/ N 3
() ]
e
=
L >
@)

1SO 9001:2008 - ISO 14001:2004 www.tecfi.it 241



Tecfill

Sistemi di Fissa

we try”
e -

BJ OS5

&= Steel toggle anchor (@ 14 mm) with spring, with combi oval countersunk head screw and washer, zinc plated
() Cheville a ressort (@ 14 mm) en acier zinguée, avec vis téte fraisée bombée fendue et rondelle

@ vVerzinkter Federklappdiibel (@ 14 mm) mit Linsensenkkopfschraube mit Schlitz und Scheibe

© Palomilla (@ 14 mm) con tornillo cabeza avellanada abombada y arandela, de acero cincado

@ CTaNbHOV OLIMHKOBaHHbIN MPYXUHHbIV aHKepTUNa “30HTUK” (@ 14 mm) c0BaNbHOM NOTaHO rONI0BKOW C KOMBMHMPOBAHHbIM
WANLEM M Wanboi

Item code Screw Size Pcs. per box Pcs. per carton
M x Ls (mm)
BJ 05 04 080 M4 x 80 50 500
Usage / Utilisation / Benutzung / Uso / Mpumerexne Box / Boite / Verpackung / Caja / Ynakoska

BJO6 -BJ 07

&= Steel toggle anchor (@ 14 mm) with spring, nut and washer, zinc plated
() Cheville a ressort (@ 14 mm) en acier zinguée avec écrou et rondelle

@ Verzinkter Federklappdiibel (@ 14 mm) mit Schraubenmutter und Scheibe

© Palomilla (@ 14 mm) con tuerca y arandela, de acero cincado

@ CTa/bHOIA Mn 7 ™n T , C raiikoi 6o
CTaNbHOM OLMHKOBAHHbIN YKUHHbIM aHKep TMna “30HTMK” (@ 14 mm), ¢ raliko 1 wanbomn

BJ O6 with hook screw / avec crochet rond / mit Rundhaken / con gancho curvo / ¢ notoso4HbIM KptoKom

Item code Screw Size Pcs. per box Pcs. per carton
M x Ls (mm)
BJ 06 04 070 M4 x 70 50 500

Item code Screw Size Pcs. per box Pcs. per carton
M x Ls (mm)
BJ 07 04 070 M4 x 70 50 500
Usage / Utilisation / Benutzung / Uso / MpumereHue Box / Boite / Verpackung / Caja / Ynakoska

242  www.tecfiit 1SO 9001:2008 - ISO 14001:2004



Tecfi ! ...

Sistemi di Fissaggio

BJ O8

&= Steel toggle anchor (@ 14 mm) with spring, with stud, two nuts and washers, zinc plated

() Cheville a ressort (@ 14 mm) en acier zinguée avec tige, deux écrous et deux rondelles

@ Verzinkter Federklappdiibel (@ 14 mm) mit Stange, zwei Schraubenmutter und zwei Scheiben

© Palomilla (@ 14 mm) con varilla, dos tuercas y dos arandelas, de acero cincado

@ CTanbHOV OLMHKOBAHHbINM NPYXUHHbIN aHKep TMNa “30HTUK” (@ 14 mm) co CTOMKOM, ABYMSA ralikamu U Wwaibamm

Item code Stud size Pcs. per box Pcs. per carton
M x Ls (mm)
BJ 08 04 095 M4 x 95 50 500
Usage / Utilisation / Benutzung / Uso / MpumexeHue Box / Boite / Verpackung / Caja / Ynakoska

BJ O9

&= Steel toggle anchor (@ 14 mm) with spring, with stud, slotted knurled blind nut and washer, zinc plated
() Cheville a ressort (@ 14 mm) en acier zinguée avec tige, écrou borgne fendu moleté et rondelle

@ Verzinkter Federklappdiibel (@ 14 mm) mit Stange, gerdndelter Hutmutter mit Schlitz und Scheibe

© Palomilla (@ 14 mm) con varilla, arandela y tuerca ciega estriada con corte, de acero cincado

@ CTanbHOV OLMHKOBAHHbINM NPYXUHHbIN aHKep TMNa “30HTUK” (@ 14 mm) co CTOMKOM, raiikoi 1 waiiboi

Item code Stud Size Pcs. per box Pcs. per carton
M x Ls (mm)
BJ 09 04 095 M4 x 95 50 500
Usage / Utilisation / Benutzung / Uso / Mpumexexue Box / Boite / Verpackung / Caja / Ynakoska

1SO 9001:2008 - ISO 14001:2004 www.tecfi.it 243



Techi 11\l .

BJ O1

&= Steel toggle anchor with spring, with combi oval countersunk head screw and washer, zinc plated
() Cheville a ressort en acier zinguée, avec vis téte fraisée bombée fendue zinguée et rondelle
@ Verzinkter Federklappdiibel mit Linsensenkkopfschraube mit Schlitz und Scheibe

© Palomilla con tornillo cabeza avellanada abombada y arandela, de acero cincado
@ CTanbHOW OLMHKOBAHHbIN MPYXUHHBLIN aHKep TMNa “30HTUK” C O0Ba/IbHOM NOTalHOM rON0BKOM C KOMBMHMPOBAHHBIM
WANLEM M C Walnboi

Item code Screw Size Pcs. per box Pcs. per carton
& () xLs (mm)
BJ 01 00 080 3/16” x 80 50 500
Usage / Utilisation / Benutzung / Uso / NpumeHeHve Box / Boite / Verpackung / Caja / YnakoBka

BJ O2

4= Steel toggle anchor with spring, with hook screw, nut and washer, zinc plated
() Cheville a ressort en acier zinguée avec crochet rond zingué, écrou et rondelle
@ Verzinkter Federklappdiibel mit Rundhaken, Schraubenmutter und Scheibe

© Palomilla con gancho curvo, tuerca y arandela, de acero cincado
@ CTanbHOV OLMHKOBAHHbINM NPYXUHHbIN aHKep TMNa “30HTUK” C MOTO0UYHbIM KPIOKOM, C raiikoii 1 waiiboi

Item code Screw Size Pcs. per box Pcs. per carton
& (“) x Ls (mm)
BJ 02 00 070 3/16” x 70 50 500
Usage / Utilisation / Benutzung / Uso / NpumeHeHve Box / Boite / Verpackung / Caja / YnakoBka

244  www.tecfiit 1SO 9001:2008 - ISO 14001:2004



Tecfi ! ...

Sistemi di Fissaggio

BJ O3

&= Steel toggle anchor with spring, with eye screw, nut and washer, zinc plated
() Cheville a ressort en acier zinguée avec oeillet zingué, écrou et rondelle
@ Verzinkter Federklappdiibel mit Augenschrauben, Schraubenmutter und Scheibe

© Palomilla con argolla, tuerca y arandela, de acero cincado
@ CTanbHOV OLMHKOBAHHbINM NPYXUHHbIN aHKep TMMa “30HTUK” C 3aMKHYTbIM KPIOKOM, C raiikol U walboit

Item code Screw Size Pcs. per box Pcs. per carton
& () xLs (mm)
BJ 03 00 070 3/16” x 70 50 500
Usage / Utilisation / Benutzung / Uso / NpumeHeHve Box / Boite / Verpackung / Caja / YnakoBka

BJ 04

& Steel toggle anchor with spring, with stud, two nuts and washers, zinc plated

() Cheville a ressort en acier zinguée avec tige, deux écrous et deux rondelles

@ Verzinkter Federklappdiibel mit Stange, zwei Schraubenmutter und zwei Scheiben

© Palomilla con varilla, dos tuercas y dos arandelas, de acero cincado

@ CTanbHOI OLMHKOBAHHbINM NPYXUHHbIN aHKep TMMa “30HTUK” CO CTOIKOW, ABYMA raiikamu 1 Wwaibamm

Item code Stud Size Pcs. per box Pcs. per carton
& (“) x Ls (mm)
BJ 04 00 080 3/16” x 80 50 500
Usage / Utilisation / Benutzung / Uso / NpumeHeHve Box / Boite / Verpackung / Caja / YnakoBka

1SO 9001:2008 - ISO 14001:2004 www.tecfi.it 245



Meehil st .

BK Q0

4= Gravity toggle with M6 cylinder nut, zinc plated

() Cheville a bascule avec écrou cylindrique M6 zingué

@ Verzinkter Kippdiibel mit zylindischer Schraubenmutter M6

e Basculante con tuerca cilindrica M6, de acero cincado

@ CTanbHOW OLMHKOBAHHbIN NPYXUHHbIN aHKep M6 C LMAMHAPUYECKO raiikol

Item code Size Pcs. per box Pcs. per carton

QIO M

m BK 00 06 000 M6 100 1.000

BK O1

&= Steel gravity toggle anchor with M6-M8 hook screw, nut and washer, zinc plated

() Cheville a bascule en acier zinguée, avec crochet rond M6-M8 zingué, rondelle et écrou

@ Verzinkter Kippdiibel mit Rundhaken M6-M8, Scheibe und Schraubenmutter

© Basculante por gravedad con gancho curvo M6-M8, tuerca y arandela, de acero cincado

@ CTanbHOV OLMHKOBAHHbIN NPYXUHHbINA aHKEp C MOTONOYHbLIM KptoKom M6-M$, raiikoii u waiiboi

Item code Screw Size Drill hole diameter Pcs. per box Pcs. per carton
M x Ls (mm) & (mm)
M6
BK0106075 | M6 x 75 | 16 /17 | 50 | 500
M8
BK0108100 | MS$ x 100 | 20 | 25 | 250

246  www.tecfiit 1SO 9001:2008 - ISO 14001:2004



Tecfi ! ...

Sistemi di Fissaggio

BK O2

&= Steel gravity toggle anchor with M6-M8 stud, two nuts and washers, zinc plated

() Cheville a bascule en acier zingué, avec tige M6-M8 zingué, deux rondelles et deux écrous

@ Verzinkter Kippdiibel mit Stange M6-M8, zwei Scheiben und zwei Schraubenmutter

@ Basculante por gravedad con varilla M6-M8, dos tuercas y dos arandelas, de acero cincado

@ CTanbHOV OLMHKOBAHHbIN NPYXUHHbIN aHKep €O CToMKoi M6-M8, AByMA raiikamu v Wwaiibamu

Item code Stud Size Drill hole diameter Pcs. per box Pcs. per carton
M x Ls (mm) @ (mm)

M6

BK0206100 | M6 x 100 | 16 /17 | 50 | 500

M8

BK0208100 | M8 x 100 | 20 | 25 | 250

BK O3

&= Steel gravity toggle anchor with DIN 558 hex head screw and washer, zinc plated

() Cheville a bascule en acier zingué, avec DIN 558 vis téte hexagonale zinguée et rondelle

@ Verzinkter Kippdiibel mit DIN 558 Sechskantschraube und Scheibe

© Basculante por gravedad con tornillo cabeza hexagonal DIN 558 y arandela, de acero cincado

@ CTanbHOW OLMHKOBaHHbIN NPYXMHHbIN aHKep ¢ 6ONTOM C LecTrpaHHol ronosKoii DIN 558 1 waiiboit

Item code Screw Size Drill hole diameter Pcs. per box Pcs. per carton
M x Ls (mm) & (mm)
Mé
BK03 06100 | M6 x 100 | 16 /17 | 50 | 500
Usage / Utilisation / Benutzung / Uso / NMpumeHeHune Box / Boite / Verpackung / Caja / Ynakoska

1SO 9001:2008 - ISO 14001:2004 www.tecfi.it 247



Tl e Ery”
Tech © il

HN O1

&= Zinc plated steel tie wire anchor (hole in flat end diameter 6 mm)

() Cheville d’ancrage en acier zinguée en tole avec trou imprimé (diamétre 6 mm)

@ Verzinkte Verankerung aus Blech, mit formgepresstem Loch (Durchmesser 6 mm)

© Anclaje con grapa, de acero cincado (agujero diam. 6mm en la extremidad llana)

@ OUMHKOBaHHbIM NOTONOUHbINM aHKEP C IMa3KoM (AMaMeTp OTBEPCTUA B MNOCKOM YacTh 6 MM)

Item code Size Pcs. per box Pcs. per carton
@dxL(mm)
HN 01 06 060 6 x 60 100 1.000
Usage / Utilisation / Benutzung / Uso / NMpumeHenune Installation sequence / Instructions de mise en oeuvre / Setzanweisung / Secuencia de instalacién / Nopagok MoHTaxa
‘T el ;". ‘¢" L. —.*‘. - ...' ...’ 0..’ ...’
ep i @ 'S o L 4., /] LA
520 e’
o_-o ® - X v (I W e
- [ * oo o, |®a o,
. 1Y d . 4 'y d
e sl .p a
| F

Box / Boite / Verpackung / Caja / Ynakoska Technical Data Sheet
S

o,

248  www.tecfiit 1SO 9001:2008 - ISO 14001:2004



